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Note: Attempt all the question.
All guestions carry equal marks,
This paper carvies negative marking. 25% marks will be dedueted for each wrong
nswer.

Chnose the carrect answer:

i A7 x (17 =17
) 2.29 b)2.75 £} 4.25 dy 4.5

) (\'.",T'.. ."b‘.l'-:i .
| II il o . then the value of 1 is -

3
i

D/ LT,/
2 By 1 )2 d) <
i Giver tar 10% =%, 107 =y and = 3, then the value of 7 iz close to -
i) 1.43 b) 1.88 ¢)29 43?7
4. 157 = 23125, then the value of 5%V is .
1) 25 by 125 ¢) 625 d) 1625
5 3% 27 and 3% M = 243 theq x is eqial 1o -
4y 0 b2 <4 A6
&, What s the applied voltage for a secies RLC circnit when lr=3mA, V=30V, V=18
V,and R = 1000 olhums?
VERUIRY 1237V c) 34V d) 48.00 v
% Ina parallel RLC circuit, which value may always bz used a3 4 vector reference?
) Current b) Reactance ¢) Resistunce d) Voltage
g How much current will flow in a 100 Hz series RLC cireuit if ¥y =20V, Ry = 66 ohrns,
and Xy = 47 ohms?
a) LO3 A b) 303 Ma e) 247 mA dy (07 mA
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9. Wheat s the € (Quality factor) of a series circuil thet resonates at 6 kTiz, bas equal

reretance o 4 kalo-ohms each, and a resistor value of 50 ohms?

wl 0,00, k) 50 c) 80 di4u
1. Whet type of waveform is shown in the given cirenit? i

i "/ s L N
T P I e el o e
4ms S 120w
a) Sine wave b) Syuare wave ¢) Triangle wave d} Sawtootl wave

. Whattheorem replaces a complex network with an eguivalent cirevil conmining & source
volage and a series resistance?
1) Multinetrork b)) Narton ¢) Thevenin 4} Superpositon

220 Inasenies—pamdlel cireuit, individual componsnt power dissipations are caleulated using-
a; Indivicual component parameters
b1 A percent of the voltage division ratio squared
¢} Totel currem sguared multiplied by the resistor values
A1 A pereent of the total power depending on resistor ratios

()

Te carrent Howing through an unloaded voltage divider is calied the -
) Resisior 2nrent b Loed current c) Bleeder current  d) Voltage current

. Two LZKD resigtors ars in series and this seres combinatien is in paralle! witha 3.3 k
& ressstor. The tatal resistance is -
3138 2 b) 1,380 0 ¢) 5,700 22 d) 880 2

13, Conductance is expressed in tarmms of -
2yohm /i m by m / ohm c) mhbo { m d} mko

16, The ‘nduced voltage 2cross & coil with 250 turns that is losated in 1 maguelic Reld that is
chungng al a rate of § Whis is -

a) 1,000 v b} 2,000 V ci3L23 Y d) 3125V
7. Tora given wirewound core, an increase in current through the coil -
a) Reverses the flex lines b) Decreases the Nux density
¢} Increases the flux density d) Causes no change n fTux density
L8, If the cross-sectional arca of @ magnetic field increases, Sut the flux remains the same, the
flux density -
a} Increases b) Decrenses
<} Remsins the same 4) Doubles

Contd... 3/

| created with

nitro™"

cownload the free tra cnline at nirap

professiona!



1HBICIS-344/E 3.

19.

)

33/231,35/233,41/234

When the cucrent through the cail of an electromagnet reverses, the -
a} Direstion of the magnetic fidd reverses

7) Direction of the magnetic field remains nnckanged

¢l Magaetic field expands

d) Mugnetic field collapaes

& pilo! tube is used (o measure -
1) Pressure b} Difference in pressure
¢) Velocity of flow d) Nozz of these

21

Two resisionces Ry azd Ry give combined resistance of 4.8 ohms when m series and |
ohm when in parallel. The resistances are -
a3 3 ohins and § ohms

¢} 1.5 ohms and 3 ohms

©) 3 ohims and 9 ohms
d) 1.5 okms end 0.5 chins

Four identical resistors are fiest coanected in parallel end then in series. The resultunt
resistanee of the first combination %o the second will be -
&) 116 tines by 1 /4 times ¢l 4 times d} 16 times

When P = Power, V = Voltuge, | = Curent, R = Rasistance and G = Conduetance, which
pfthe follovang relation is incorrees?
Al V = % (PR) by P= V3G ) G=P/1? d) 1~V (PR

Which of tha following bulbs will have the leas) resistence?
)220V, 60 W b) 220V, 100 W ¢) E15 'V, 60 W d)[1ISV, 100 W

The ratio of the resistance of a 100 W, 220 V Jamp to et of a 100 W, 110 Y lamp will
be nearly -

aj4 b)2 e)l /2 d)isg
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